S LAPPSET.

FINNO

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D'INSTALLATION

DATE: 5.2.2016

Q10147

Copyright Lappset Group Ltd




% LAPPSET. Q10147 1

FINNO
DATE:  5.2.2016

=k
~

702286  |pcs 706564 |pcs 900965 |pcs 902487 |pcs 903149 |pcs 904333 |p

(2 4
(o /

90x50 L2650 M10 65x65 M12x30 L2940

[®]
2]

[~

O

905090 |pcs 905104 |pcs 905115 PCS 905138 |pcs 905196 |pcs

.

745 M10 @30

|
,

|

|

909347 |pcs 909506 |pcs 909507 |pcs 909508 |pcs 909511 PCS

- B %H

1
%

Copyright Lappset Group Ltd

M12x35 ?3.5x13 L 1000 L 1000 L650
909637 |pcs 909638 |pcs 909639 |pcs 909644 |pcs 980131 PCS 980154 |pcs
16 40 20 4 16 20
M10 20/10.5 M10x25 M12 @6x60 224/13
PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

Q10147

DATE:

5.2.2016

EN/AS Impact Area 24
- Falling Space 24 m2

Grid size = 1000 mm

+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +
+ + + + + +

m2

2950

1690

1:100

. .

. .

. .

. .

. .

4120

. .
o

. .

. .

. .

. .

. .

. .
e

3860

4450

+ +
+ +
+ +
+ +
+ +

1950




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

Q10147

DATE: 5.2.2016

4A

@ o
&
of

M10x25




Copyright Lappset Group Ltd

% LAPPSET.

FINNO

Q10147

DATE: 5.2.2016

EN/AS Impact Area 24 m2

Falling Space 24 m2
Max Falling Height 1400 mm

1700

3910

3000

1:100

8020

5m

+2690
+2530 0
0 J




#® LAPPSET. Q10147

FINNO 6
DATE:  5.2.2016

905196
x4

905991
X2

706564
x4

W 905907
\ X2
N 9094?11
X
905908
X2

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET.

Q10147

FINNO 6
DATE: 5.2.2016 A
DET 1 DET 2 DET 3 DET 4
A M1 980154
905104
909521 %\ 904904
DET 5

|

224/13




#® LAPPSET. Q10147

FINNO DATE: 5.2.2016




